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PART A: Vocabulary

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each

sentence. Then mark your answer sheet.

1- Before you -—-e-eeeee to the next question, you should take some time fo make sure
you’re happy with your answers so far.
1) prescribe 2) precede 3) proceed 4) preface

2- My first day of babysitting was an absolute -—------- ; the kids spilled food all over the
kitchen and they wouldn’t listen to anything I had to say.
1) invasion 2) enigma 3) condemnation 4) fiasco

3- We were very unhappy with the -——- -— way the moving company tossed our boxes
into our new house.
1) haphazard 2) impatient 3) initial 4) neutral

4- The author used -————— when he said the dog was “as big as a house.”
1) shortsightedness 2) hyperbole 3) precision 4) pretension

5- 1 never thought you would get so upset about such a —-—--aux-- matter.
1) contradictory  2) consistent 3) colloguial 4) trivial

6- The police wondered about the man’s --=eumue- for committing the crime.
1) inhibition 2) motive 3) impact 4) inspiration

7- While most club members have agreed with the decision, I expect Ricky to --—-eamev
forceibly.
1) dissent 2) vanish 3) avoid 4) abate

8- “It is my firm -------—-"" gaid the candidate, "that family farms must receive
government help.”
1) speculation 2) safeguard 3) convietion 4) deprivation

9- You’ll have a better chance of finding that unusual word if yvou look it up in a/an
===eemeeee lictionary.

1) skilled 2) publicized 3) cultured 4) unabridged

10- Because the hikers planned to reunite at 4:00 P.M., they paused fo ---—------ their
watches.
1) illuminate 2) reinforce 3) synchronize 4) chronicle

PART B: Cloze Passage

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best

fits each space. Then mark your answer sheet.

IHerbicides. also commonly known as weed killers, are pesticides used to kill unwanted plants.
Selective herbicides kill specific targets, (11) —=—mame—- the desired crop relatively unharmed.
Some of these act by interfering with (12) —=——- and are often synthetic mimics of natural
plant hormones. Herbicides used to clear waste ground, industrial sites. railways and railway
embankments are not selective (13) ==—mmemae- all plant material with which they come nto
contact. Smaller quantities are used in forestry. pasture systems, and management of areas
(14) —=ammemm as wildlife habitat.

Some plants produce natural herbicides. (15) -=—=—-—- the genus Juglans (walnuts), or the
tree of heaven: such action of natural herbicides, and other related chemical interactions, is
called allelopathy.

11- 1) they leave 2) when left with 3) while leaving 4) by leaving
12- 1) the weed of growth 2) the growth of the weed
3) the weed In growing 4) the growing of weed

13- 1) and kill 2) killer of 3) to kill 4) which kill
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14- 1) where set aside 2) in which they are set aside
3) that set aside 4) set aside
15- 1) either 2) such as 3)or 4} includes

Part C. Reading Comprehension

Directions: Read the following three passages and choose the best choice (1), (2), (3), or (4)
that best answers each question. Then mark it on your answer sheet.

Passage 1

In case of seismic disasters, old wooden structures in Japanese densely built-up areas would
suffer immense damage. For that reason. the Japanese government has. among its policies,
given a priority to the improvement of these areas. In order to solve this problem. promotion of
planning for improvement is needed through community-based planning for disaster mitigation
with consensus-building by the residents and the administration of the areas.

One method for planning called *Workshop™ has attracted a great deal of attention in Japan.
A typical Workshop (hereinafter referred to as WS) is summarized as follows. (i)
Understanding: The residents understand and confirm the existence of the problems and useful
resources for disaster mitigation in the area. (ii) Summarization: Based on the
“Understanding™. the residents summarize the problems for the disaster mitigation in the area.
(111) Planning: The residents discuss the measures to solve the disaster mitigation problems ol
the area clarified by Summarization . And, the residents summarize the measures through
cooperative decision making and consensus-building.

16- Which of the following best describes the organization of the passage?

1) A fact is stated and supporting examples are supplied.

2) Two opposing points of view are presented and evaluated.

3) A vulnerability is stated and the way to handle it is delineated.

4) An effect is mentioned and the possible causes are investigated.

17- Which of the following best describes the author's opinion about the residents’
participation in the WS plan?

1) Insignificant 2) Vital 3) Critical 4) Unrealistic
18- It can be inferred from the passage that the stages involved in the method for
planning WS ----—-——- *

1) are interchangeable

2) are not adequate to meet the concerned needs

3) necessitate the selection of an expert as the director

4) follow one another in an order that cannot be changed

19- The word "clarified" in paragraph 2 could best be replaced by -----=---e-- "

1) identified 2) condescend 3) elucidated 4) priotrized

20- According to the passage, in step 2 of the method mentioned in paragraph 2, the

residents ----e-ee- ;

1) are asked to assign the more specialized tasks to experts

2) must come up with ways to handle the unexpected problems that may emerge afier a
calamity

3) should briefly refer to the problems related to attempts needed to be made to lessen the
impact ol possible disasters

4) need to prepare a summary of the complications they face while wrapping up the goals of
the project management plan entrusted to them
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Passage 2

Sustainable development and sustainability influence today's urban planners. Some planners
argue that modern lifestyles use too many natural resources, polluting or destroving
ecosystems, increasing social inequality, creating urban heat islands. and causing climate
change, Many urban planners. therefore, advocate sustainable cities.

However, sustainable development is a recent. controversial concept. Wheeler. in his 2004
book. defines sustainable urban development as "development that improves the long-term
social and ecological health of cities and towns." He sketches a 'sustainable’ city's features:
compact. efficient land use: less automobile use. yet better access: efficient resource use: less
pollution and waste; the restoration of natural systems; good housing and living environments:
a healthy social ecology: a sustainable economy: community participation and involvement:
and preservation of local culture and wisdom. Urban planners are now promoting a sustainable
city model. which consists of cities that designed with consideration of environmental impacts.
such as minimizing the uses of energy. water. and the outputs of waste and pollution.

Because of political and governance structures in most jurisdictions. sustainable planning
measures must be widely supported before they can affect institutions and regions. Actual
implementation is often a complex compromise.

21- According to the passage, humans' overusing of natural resources ---------- .

1) is due to our inflexibility to change our adverse attitude toward our lifestyle

2) justifies the support by urban planners of sustainable cities

3) has worsened a situation that has already been intolerable

4) seems to be the root cause of our social maladies

22- The author refers to Wheeler in paragraph 2 in order to -----——- %

1) shed light on what sustainable development is

2) support the fact that urban development is a controversial issue

3) provide the most comprehensive definition of sustainable urban development ever given

4) demonstrate the infeasibility of putting in practice the concept of sustainable urban
development due to the many variables at play

23- According to the passage, all of the following are features of a sustainable city

EXCEPT ----een--- .

1) an environment amenable to easy living

2) an economic situation on which people can rely

3) people's active presence in the management of the city

4) less economical use of energy sources as well as water to create a clean environment

24- Which of the following best describes the function of the last paragraph in relation to
the main concern of the passage?

1) It accentuates the need for it.

2) It sets a condition for its realization.

3) It delineates the impracticality of it in terms of available infrastructure.

4) It makes a series of predictions about the situation after it is actualized.

25- The word "sustainable" in paragraph 3 is closest in meaning to --———--—— §

1) immediate 2) deliberate 3) crafty 4) viable
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Passage 3

Transport within urbanized areas presents unique problems. The density of an urban
environment increases traffic, which can harm businesses and increase pollution unless
properly managed. Parking space for private vehicles requires the construction of large parking
garages in high density areas. This space could often be more valuable for other development.

Good planning uses transit oriented development. which attempts to place higher densities
of jobs or residents near high-volume transportation. For example, some cities permit
commerce and multi-story apartment buildings only within one block of train stations and
multilane boulevards. and accept single-family dwellings and parks tarther away.

Floor area ratio is often used to measure density. This is the floor area of buildings divided
by the land area. Ratios below 1.5 are low density. Ratios above five constitute very high
density. Most exurbs are below two. while most city centers are well above five. Walk-up
apartments with basement garages can easily achieve a density of three. Skyscrapers easily
achieve densities of thirty or more.

City authorities may try to encourage higher densities to reduce per-capifa infrastructure
costs. In the UK, recent years have seen a concerted effort to increase the density of residential
development in order to better achieve sustainable development. Increasing development
density has the advantage of making mass transport systems. district heating and other
community facilities (schools. health centers. etc.) more viable. However. critics of this
approach dub the densification of development as "town cramming' and claim that it lowers
quality of life and restricts market-led choice.

Problems can often occur at residential densities between about two and five. These
densities can cause traffic jams for automobiles. vet are too low to be commercially served
by trains or light rail systems. The conventional solution is to use buses, but these and light rail
systems may fail where automobiles and excess road network capacity are both available,
achieving less than 2% ridership.

26~ The author refers to ""parking space" in paragraph 1 as -—-—--—— .
1) a feature of high density areas
2) the means to minimize damage to businesses
3) something that can be used to serve a better purpose
4) a necessity anywhere urban development with high quality is preferred
27- According to the passage, in some cities single-family residences -------— -,
1) are said to be the main problem to be handled in urban planning based on transit oriented
development
2) can probably be found where parks are also allowed to be established
3) begin to emerge where floor area ratio does seem (o matter
4) are to be located near multilane boulevards
28- The passage provides sufficient information to answer which of the following
questions?
I. How is density measured?
II. What is the merit of increasing development density
INI.Why have the authorities in the UK recently tried to increase the density of
residential development?

1y 1 2)land II 3) I and 11 4) L 1L 111
29- What is the density of residences outside of cities?
1) Below two 2) Between 2 and 5

3) Above five 4) Varying between 1 to 3
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30- The passage mentions 'the densification of development as 'town cramming’
(paragraph 4) to represent the people whose attitude toward the approach referred to
in the same paragraph is ----—----- :

1) favorable 2) disinterested 3) critical 4) indifferent
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